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Q12- The capacitance of a parallel-plate capacitor is inversely proportional to the:

A) plate-separation | B) voltage ~ C)plate area D) charge
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Q13- The equivalent capacitance of the capacitors in the circuit is:
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Q14- If the potential across a capacitor is raised from V to 3 V, the stored energy will rise

from U to: ‘
A)2U B)3 U C)6U |
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Q15- If a dielectric material of k = 4 is inserted between the plates of a capacitor of
capacitance C, the resultant capacitance is:
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A)0.25C B) 0.5 C C)2C
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Q11- What is the capacitance of a parallel-plate capacitor having a length of 20 cm and

a width of 10 cm if the separating distance is 0.005 mm?

A)35.4 nF B) 70.8 nF
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QI- For a capacitor of 5 mF without a dielectric, what would be the

¢ Emax =2 x10° N/C \d =
capacitance if a

dielectric of K =2.6 and strength (E,...) of 2x10° N/C is inserted between its electrodes?

A) 2.4

B) 0.013

C) 10’

D) 4x10°
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Q2- If the stored energy in a capacitor having potential difference of 100 Vis 0.1 J,

stored energy for a potential difference of 200 V is:

A) 0.025

B) 0.05

C) 0.4

the

D) 1.6



Q12- An electric potential of 5 VlS apphed across a capacitor of 20 yF the electric charge
acqmred 1S:

A) /4 B)4 C) 1/10000 D) 10000
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Q13- The equivalent capacitance of the capacitors in the circuit, shown, equals:
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A)12C B)2.25C C) 15C ) 0.67C
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Q14- The maximum charge that can be placed in a parallel-plate capacitor of area2x10™* m
and filled by a dielectric of constant 2 and strength 14x 10 V/m is:

A)49.5C B) 49.5 mC - C) 49.5uC D) 49.5 nC
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Q15- The stored energy in a capacitor is proportional to:

@ B) Q o D) 1/Q°
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Q15- What is the capacitance of a parallel-plate capacitor having o length of 8 ¢mand a width
of 9 cm if the separating distance is 0.01 mm?

A) 3.18 nF
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Q1- A paralle] plate capacitor, having a plate area of 200 cm”, has a capacitance
C=40nF. The distance between its plates is:

A) 4.4 nm - (‘z B)4.4 um !! ._ C)25nm | D)2Spm

Q2 The energy stored in a capacitor of 9 F W1th a bmld up voltage 12V equals

A) 648 _B)1356 C) 133 D) 0.66
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Q3- The electric potent1al difference between e and f equals:

4 mF

A) 10.66 B) 4 C) 8
Q4- When a dielectrics is inserted between capacitor plates the capacitance:

A) decreases B) becomes zero* @ S p) does ot ¢k




QUESTION 9: A parallel-plate capacitor carries a surface charge density of 18 nC/m?2. If the

plate separation is 20 cm, the electric potential difference between the plates is:

A) 100 V B)88.5V C) 406.78 D) 177V
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QUESTION 10: The CqQuivalep,

ca
same value C = 1uF) betWeen aPacitay,
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A) 1 uF B) 0.545 ¥ .) D) 6 xm«“

QUESTION 11: If the stored energy of a capacitor, disconnected from the electric circuit,

equals U,, its stored energy, U, after inserting a dielectric material (k = 4), between its plate
is:

B)16 U, C)4 U, D) 1/16 U,

QUESTION 12: For a capacitor having C =8 pF, d = 0.06 mm, and a dielectric material

Epa = 15 % 10° alis the maximum charge that can accumulates on its plate?
m B)3.7x10°C C)95C  D)4200C



—
S s 18 -1

. 16 gang A Ua) g b 500 F (g ghasd Gl Sl pUa Dms
ance of the system is 500 nf7 . then the battery voltage equals:

o A
A) 25 B) 10 C) 1 D) 0.04
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Q2- The capacitance of two parallel metallic plates, separated by 2 cm, and having area
of 20 m’ each is:

() 885 nF_J B) 8.85 pF C) 100 mF D) 100 uF
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Q3- If each capacitor is 3 C, the equivalent capacitance between a and b equals:
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Q1- If the capacit
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from a charged capacitor, and then the voltage

Q4 - A dielectric material is taken avey | value. Accordingly, the dielectric constant of

across it increases to 120% of the origina

this material is: >

C) 1.1 | D)1.2

A)1 B) 1.4
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Q12- The capacitance of the
Square plateg ;
S 1s:

8 a0 I e 1y ) T 1208

A)3.54 x107

1 1 mC/m* g L3
Q13‘ Ifthe Cha_rge de
system (in nF unit) is:

J __C)29.5x10% D) 2.4 x10°!!
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1€ external sphere is 1 mC/m? , then the capacitance of the
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- e stored energy U as a function of the capacitance C, potential V, and charge Q,

IS:

A)%CPQ B)%CV C) %2 QV

D)2C Q?‘
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Q15- The equivalent capacitance between a and b is
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2 mF
1 mF
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A)12 mF B) TmF C) 0.54 mF D) 1.83 mF
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